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It means to them, without money — 37 pRwn T K92

OVERVIEW

The X3 attempted to prove that XXk Wi is RNMAWK 7wn X7 from the
fact that *mw"2 A1KRW 712w 1N 7°¥°2wn, where he 1s a X1k 7°wn. The X
replies that he is not a X17mnR 7w, since he is paying. The X773 argued that
he is still a TWn on 7N X?; to which the X713 answered that people assume
that 711N X7 is only if you do not pay, and here he is paying. Therefore he is
not a Mwn. Our MooN challenges the assumption that he is not a TWwn and
explains why despite these challenges he is indeed not a Twn.

nooIN asks:
— 9NN XYM NY PIDN MINN ON)

And if you will say; we can derive it from %730 8% (do not steal); how can
Tmnn & (be interpreted by people to') mean a prohibition from taking someone’s article
without paying for it; we know that already from 7110 X%, therefore 7vann X2 must mean
that you are prohibited from taking someone’s article even if you pay for it?!

N1B0IN answers:
— *PINY 2303 1YY MaYY Y Y

And one can say; that indeed you transgress Tmnn X7 only if you take it
without paying, and the reason the 710 writes two prohibitions 7vnn &% and

210 XY is so that one transgresses two prohibitions if he takes someone’s
article and does not pay for it.

nooIN asks:
— (0w 8,30 97 0w) DN S19Y NMMTI “Mmn *yomnn 2193 397 2575 55 XM NN ON)

! See XIP°vn 7"'7I02 2,70 P70 that there are two opinions what the X123 means that 17 822 "W1R? 70 X2
177 ynwn; whether it means that people think there is no Mo°X of 7wnn X7 if you pay (but really there is an
ToR even if you pay) or that indeed there is no M0°R of TN X2 if you pay (only if you do not pay is there
an MOR of Twnn X?). See 7w 0"1mM R"wnn who agree that Mo0IN here maintains there is no MR of R
7NN if you pay. See footnote # 4.

* The two 11X> will make the M19°X more severe (even though there is no M9 on either 1X?).

? A 1onn is one who forcibly takes and pays. See following footnote # 5.

* This question (seemingly) indicates that M99 maintains that when the X3 states 7 X922 *WK? TN K2
177 yawn, it means that there is no Mo°X of TMnN X7 if he pays (see previous footnote # 1). Therefore moon
asks, granted that there is no M0°X of 7NN XY, but there is an MO°R of oMM even if he pays, for that is the
meaning of jonn (and if there is an 70X, he is a Twn, and therefore also Xny1awxk 7). However if we
maintain that there is an 790K of T%nN X2 even if one pays; it is just that the people mistakenly assume there
is no MoX (and therefore he is not a TWwn), then we could answer the same concerning a 70111 that people
mistakenly assume that there is no 7011 70°X when he pays (and therefore he is not a ).
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And if you will say; but even when he gives money he is still considered

a Jonn as is evident in the end of o157 o -
—Tonn 1y MPAY Y Oy 71 HYN YN *N379 MTYY Y09 YoM

And a jonm is 100 to testify, as it is written; 7¥ n1a® w2y 770 nwn X

o»n (do not join hands with the wicked to allow a witness who robs) -
— AWAYY HHD9 MTYY HHYoam

And one who is 2125 for n17y is o0 for a YW -
— (0w 3,79 91 PYTIID) S9N D% D993 MY1Y YDA BPYNT 1IN YT

For all those that are mentioned as n17¥ 9109 in 7792 777 P70 -
— T am 1 msnawy P¥AVIN Y5 D93 NAMAYWY 7Y YOI

Are disqualified for a 712w in PPwawis %o P95, so how can we give him an oath
MW APRY, if it is 1MwA2 he is a 1on1 and a Jorn is WS o211

N1d0IN answers:
— 13297 NON D1YY 9109 XY JONRNT 1Y Y

And one can say; that a Jonmr is M7¥% 9102 only 333972, Mmoo proves this -
— 13007 07%9Y 195090 193 DT P93 NN

Since the X592 in 9912 777 P75 teaches, ‘they added onto them the oao%m’-
— 19NN 79975 NI NDPNINT 10NN 799 KDY

And the X713 does not ask (how can you say the 2151 added the o°10117), a

JoRm is RN™MINTA MTYH 7109, as the X3 asks concerning a y913. This proves
that a Jon1 who pays is M7v% 7109 only 112775.

% >wx 21 there explains that a °»7 2°7° Jonn1 and a 7 2°7° R? 1775,

6%, (2°0own) Mnw.

7 The 7730 commands us (the 7"2) not to allow an o»n T to testify; it is evident that acts of onn (being a
1onn) disqualifies one from becoming an 7v.

8 The mawn there on 2,70 mentions four M7y 709 which are: Mo 2°11 DAY D272 MYPM R2W22 pnwnn
Ny aw.

? These same aforementioned four M7y 05 are mentioned in the MW» in MWW as A¥1ALWH 105, MOOIN
assumes that when the XX in 177710 added D210mn and 021913 to the list of M7y *7109, they are also
automatically added to the list of 7v12w" 2105 (see following footnote # 12). See ‘Thinking it over’ # 1.

10 Alternately, moo1n asks since he is a jonm, he is therefore a T'wn; we can therefore prove that a Twn
(X11mnR) is not XNY1AWR Twn. According to the explanation mentioned in the text (how can we allow him to
swear), one can argue that only a >X7) J0n1 is 7¥12W5 7100 but not one who is W for NONR (see "7 MoOIN
7wn7, who distinguishes [in two alternate ways] between a 7213 and a Twn). See (however) footnote # 16.

" If we assume that Moo question was that we can prove that a (XInX) TWwn is not XNYAWKR 7w (see
footnote # 10), then NN answer is evident now since a 10n17 is MTY2 7109 only 112777, therefore he is not
7y12wR TWwn which is an X1k M0°K (however a 7w on a XN»7XT could be XnyawR 7°wr). According to
the explanation in the text, 1901 answer becomes apparent later.

2 The x3 in 2,75 P70 cites a Xn»12 which states that in addition to the n17v >9300 which are mentioned
in the 71w on 2,75, the oo added the o°10nm1 and the 2°1913.
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moo1n addresses the P09 of Onn v "3 Nwn 9X; indicating that an oA Ty is a XN™IIXT 9100;
so NMBOIN explains:
— 9137 251 NOY 13Nﬂi7‘1 \2~1a)

And the jo%1 which the pyep disqualifies from M7y is a 1921 who does not

pay, however a jonn who pays money is MY 2109 only 1312774. [M20In did not conclude
his answer yet'*.]

mooIn responds to an anticipated question:
— 9197 2511 N 1DPAN NN 232 ONRNNY 152{‘1? 10 (x,057 97 0P xa33) DTN YNHYY

And in the end of 1377 P70, where the X123 cites the 105 of 77797 12 onm,

that we are discussing even a j0n77 who gives money; indicating that the word
o in a P109 means that he paid; this is not difficult for that 109 -
— NI NDYa XNONON

Is merely an Rn>%oR. However a X177 101 is when he does not pay.

mooIn established that a j0n who pays is M7Y% 2109 only 13277%; however this does not
seem to answer the original question; how can we give him an oath since he is a j01m.
mooIN continues:
16
— TMAYY DIDOY TN NN MTYY DIDAY 123019NN DY 1990INT 2) DY 9N)

And even though the onon added z°1e2n to the list of M7y »ws and

similarly that the j07m is 7¥12w» 105, so how can we administer to the 921w the
71w of "Mwn2a nR, since he is considered a j01n?

mooIn concludes that this rabbinic prohibition preventing a j0n1 from swearing -
— 0DYaN NI OY N POVND NENY JONIN 139N

Is only by a jo»n who is brazen to grab it away from the hand of the

owner, who is aware of this grabbing, into his hand,; it is this j0n1 who is 9109
W MTYY -
19909 NY 1Y NTANIY 99X IMIDNN DTV NIN 98N XD NI YaN

However here where the 071 is not brazen; but rather he hides his
mionn and merely says he lost the article and pays for it, such a jonm is not
%195 for 7v12w (and MTY).

¥ When the word 70mn is used in a 109 it refers to a 70n1 who does not pay; however the term 701 in the
X713 refers to a 7o who pays.

1 See footnote # 11.

15 ©,7 P81, The P09 states XN X°P1 07 1DOW WK 7717 12 020y, from which the X n3 derives that even a
10n1 who pays, it is considered that ¥°p1 07 125W.

16 mpoin does not distinguish between a j0m17 *R71 and a 7TWwn jonn as he did in 7wn7 7"70, because that
distinction was necessary since we maintained that Xp¥12wR Twn X2 XNnnR 7wn; however now we are
attempting to maintain that a XWX TWwh is XNy1WR 7wn, therefore there is no reason to distinguish
between X7 and 7. See (5"7v) M7 7°. See footnote # 10.
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SUMMARY

There is no proof from 910 &% that 7nn XY is even with paying, for one can
say that there are two 7PMKR? for stealing items and not paying. The
prohibition of an onr 7v (and similarly for 7312w) is only when he does not
pay; however a jonn who pays is 7312w M7v% 9109 only 1127773, and only
when he is a 7°¥1; however if he is 1Maonn 229y the oo did not disqualify
him for (M7Y or) 7¥2w.

THINKING IT OVER
1. Did mpon in his question know of the X %3 that 1aonn om*sy 19°0172"

2. Why does m»oin preface his answer that a j0nm is (M7v?) 2109 only 112771;
why does not M50IN merely distinguish whether he is a X1 7017 or a 07N
ooy !

3. Why was it necessary for moon to say that a jonn that pays is M7v2 9109
132771, why could he not maintain that he is Xn*»7IX7 NMTY% 9109; however he
is 11277 7y12wWS 9100 as Moon distinguished previously Twnt 7"72?"

17 See footnote # 9.
18 See 7w " R"WIN.
19 See X"wAn and n"m. See footnote # 16.
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